. Linkin
|i&hlrfha°&'£w&}rlhw” y

g Laws

All Judiciary Exam

Signature and Name of Invigilator
1. (Signature)
(Name)
2. (Signature)

(Name)

JHE1[5

Time : 1¥2 hours]

©:7737746465
www.LinkingLaws.com

OMR Sheet NO. :..........ccocurereireciereaseerenciecseeaenaens
(To be filled by the Candidate)

Roll No.

(In figures as per admission card)

Roll No.

(In words)

PAPER - II
LAW

[Maximum Marks : 100

Number of Pages in this Booklet : 32

Number of Questions in this Booklet : 50

Instructions for the Candidates
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This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.

Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/ questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.
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Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark your
response at any place other than in the circle in the OMR
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Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
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LAW
PAPER - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

1.  Which of the following statement(s) is/are incorrect ?

(a) In Keshavananda Bharati case, the Supreme Court has said that the Preamble to the
constitution is a key to open the mind of the makers.

(b)  “Socialist and Secular” words were added to the Preamble by 44" Amendment of the
Constitution.

() Preamble can only be amended if it violates the Basic Structure of the Constitution.

(d) Since Preamble is not Articled so it is not the part of the Constitution.

Codes :
(1) only (b) (2)  (¢) and (d)
(3) (a), (b) and (c) (4) (a), (b), (c) and (d) all are incorrect

2. Match List - I with List - IT and give the correct answer by using the codes given below the

Lists :
List - I List - II
(a) Article 329 (i) Golak Nath Vs. State of Punjab
(b)  10th Shedule Part - 7 (i) Keshavananda Bharati Vs. State of Kerala
(c) Article 31-C (iii) Indira Nehru Gandhi Vs. Raj Narain
(d) Article 13(2) (iv) Kihota Vs. Zachilhu

@@ () (o (d)

® @ @ @ )
(2) @) (@v) @) ()

®) Gv) (@) @O @)
(4 i) (iv) (i)

)
i z

) @) (
pssis [ {11
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<
(1) e (b) 2 (0 ¥ (d)
(3) (a), (b) 3R (o) (4)  (a), (b), (c) ¥R (d) Wit 7TeTd €

Tt - 1 R - 113 e Gt ok i A e g § 4 e s A

Tt - 1 T - 11
(a) T3 329 (i)  TARTIY T G T
(b) THl STIHET 9T - 7 (ii)  HIEME ! M el TF
(c) #T=%g 31-C (iii) 3T TEE et ST TSR]
(d) BT 13(2) (iv) fergrer o Sfareg
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(@ (b) (o) (d)
® @ @ @) G
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3.  “If I was asked to name any particular Article in this Constitution as the most important an
Article without which this constitution would be a nullity I could not refer to any other
Article except this one (Article 32) ................ It is the soul of the Constitution and the very
heart of it”.

Whose observations are these ?
(1) Justice P.N. Bhagwati (2) Dr. B.R. Ambedkar
(3) Justice V.R. Krishna Iyer (4) Pundit Jawahar Lal Nehru

4.  Which of the following statement(s) is/are incorrect ?

(a) Chapter IIl on Fundamental Rights of the Constitution is based upon Bill of Rights of
the U.S.A.

(b) ‘Right to die’ is a Fundamental Right Under Article 21 of the Constitution.
() Indian Constitution is a Complete Federal Constitution.
(d) Fundamental Rights can be waived under the Indian Constitution.

Codes :
(1) only (b) (2) (c) and (d) only
(3) (b) and (c) only (4) (b), (c) and (d)
5.  Match List - I with List - Il and give the correct answer by using the codes given below the
Lists :
List - I List - II
(Principles) (Case Law)
(a) Equal work for Equal pay (i) R.D. Shetty Vs. The International
Airport Authority of India
(b) “Agencies or Instrumentalition” (i) Rudal Sah Vs. State of Bihar

of the State are covered under
the definition of State Under
Article 12 of the Constitution
(c) Fundamental Rights and (iii) Randhir Singh Vs. Union of India
Directive Principles of state
policy are supplementary and
complimentary to each other
(d) Damages can be awarded for (iv) Unikrishnan Vs. State of A.P.
violation of Fundamental Rights
Under Article 21 of the Constitution
Codes :

@@ () (o (d)

1 @) @ (v) (i)
2 O @) 3§ (v)
(3 @(v) @) @ (i)
4) @@ @v) @) @
e T ‘
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3.

4) () (
psos |11

‘2o dfaym § afe qe@ fedt favm erI=eT #1 AW 41 T i U U ergese faed fa uw
Hfgum o791 2§ sHes faam (=9 32) fordt gak ST =% &l JEfad Tl o Tl ................
g Hfaum +1 A § SR s g 71

g TRt sTacie 2
(1) =AreTe 9. e (2) = AR sTREH
(3) et AR F SR (4) TfEd FORR T TE®

frefafed wem /s § 9 S 91/3 FUF Tod ¢/ |
(a) "M &1 AW [ qAYT ATYHR . TE.T foa 31 T5eg T eyiia 2|

(b) "M & AT=9E 21 F ATIR ‘g 1 AUFER qaya' AR 71
(c) YRdr Higem qof T wigem 2
() IR Hfgu™ % STTER Hayd SAfHERi Sl Srer S gl T
< :
(1) ¥ (b) () (0) ¥R (d) FA
(3)  (b) R () o @ (), () 3R (d)
et - 11 gl - 119 GAfer S gu e w70 i & @ 91 S 1 52 S
T - 1 T - 11
(faia) ( fafuia amg)
(a) F9M &M % faT 99 o () STREN. I T IRA h1 SR T8
EsERECTul
(b) T I TSTEIS SAYE SR (i) %< 9 oM R T4
Hfqu™ & Tgw8 12 % IR
TSIHTST S12Fell IR T hi
TR & eT=id 1
(c) T Hifd & qaa AR AR (iti) TOTeX THE oA WA
e fgld, T g & fag
O SR AL €
(d) Ffau™ & TI=sg 21 & AR (iv) SHFYE a9 Y Jew (T 1)
eAYd SRl & &9 & afaafd
1 ST Fehet B
e :
@@ () () (d)
1 @) @) o Gv) ()
2 @ @) (D) (iv)
23) (iv) (ii) (i) 8)

) (i)
TN
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6.  Match List - I with List - IT and give the correct answer by using the codes given under the
Lists :

List - I List - II
(Added/Amended Provisions) (Amendment)
(a) Article 15 clause (4) providing for special (i) 25" Amendement Act, 1971
provisions for socially and educationally
backward classes.

(b)  Article 13 clause (4) providing for nothing (i) ~Constitution (85" Amendment)

shall apply to any constitutional amendment. Act, 2001

(c) Article 16 clause (4 A) providing for (iii) Constitution (86" Amendment)
consequential seniority with promotion Act, 2002
to SC/ST.

(d) Article 21 A providing for Right to (iv) Constitution (1% Amendment)
Education as Fundamental Right. Act, 1951

Codes :
(@ (b) (o) (d)

L @ @ @G (@)

2 G@v) @ @) (i)

() @) @Gv) @ (D)

4 @) () @) @)

7.  Assertion (A) : Powers and functions are distributed between the two tiers of government
under the written Constitution in India.

Reason (R) : Union and the States are completely independent of each other under the
Indian Constitution.

Codes :
(1)  (A) is correct and (R) is the correct explanation of (A).

(2)  (A) is correct but (R) is not the correct explanation of (A).
(3)  (A) is correct but (R) is wrong.
(4) (A) is wrong but (R) is correct.

8.  Which of the following school in jurisprudence encompasses the ‘functional approach” ?

(1)  Philosophical school (2) Natural school
(3)  Sociological school (4) Historical school
s [ HLHINRLA AN 6 Fapec
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6. G-I Gt - [1 § GAfad xd g A I T3 el 9 € HEl ST HT 997 R
el - 1 et - 11
(SrgydEvnTE Suse ) (HINET)
(a) 3TTT 15, HI ¥R (4) F AR () 25at geiem sAfuftEm 1971
grrfsr 7R s &9 | s
=t & fore fasie e/ qaem 2|
(b) 3TT=T 13, U (4) & 9 frelt (i) @faem (85 af "ener) sifafwm, 2001
Gaenfer T & fau g2 off T
NIREERIEIRERIT
(c) 3TI=0% 16, ! 9N (4 A) & (iii) @faem (86 T weem) stfuftam 2002
3T=ta STIgfad St /SISt i
Tt & WY ST e §

(d) @AT=3 21 A foan & sIfusr = (iv) dfawm (ggen dweE) sifafe 1951
Hifersh IfHHR & TE TS HIT ©

a) (b) (o) (d)
(i) (i) (iv)
) @ () (i)
(iv) (@) (i)
(i) (iv) ()
7. AMMRYT (A): ¥R ¥ fafaa dfaum & deq wfar iRy <1 Sfvret & < faanfe €1
T/IT (R) IRATT Ffaem & TIER ¥9 3R 19 T g ¥ quid: w&a § |

e :

(1) (A) T & AR (R), (A) FT T&l === T |

2) (A) T T AfFT (R), (A) FT T&t =Fmen 71 7
(B) (A) TE § Afehd (R) ToTd B |

(4) (A)TTed § AfeRd (R) 9 2

8. fTrafafaad # @ =1 w1 wpa fafeme & fraraes 3umm’ 1 Ffed Yl 8 2

(1) <wif ke (2) ITpfaw T
(3) EHTORIAS S (4) el
yssis [ HANAN 7
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9. A legal system which works to ensure a fair division of social benefits and burdens among

the member of a community. It serves to secure a balance and equilibrium among the
members of the society. What is the name of this legal system ?

(1) Distributive justice (2) Corrective justice

(3) Remedial justice (4) Adversarial justice

10. Which of the following is not correct regarding Legislation and Precedent ?

(1) Legislation reflects the formal will of the state and precedent has its source in
judgement of court

(2) Legislation is the formal expression of new laws by legislature and precedent is the
creation of law by recognition

(3) Legislation is general declaration of law in abstract form and precedent is the
manifestation of law in action

(4) Legislations are based on the minority opinion and precedents are created or based for
future decisions

11. Read Assertion (A) and Reason (R) and give the correct answer with the help of codes
given below :

Assertion (A) : A person in possession of a thing is deemed to be the owner of the thing

possessed.
Reason (R) : Possession is as good as ownership.
Codes :
(1) (A) and (R) are true, and (R) is the correct explanation of (A)

(2) (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A) is true but (R) is false
(4) (A) is false but (R) is true

12.  Which of the following is not a ‘kind of possession” ?
(1) De facto and De jure (2) Concurrent and duplicate
(3) Corporeal and Immediate (4) Infinity and Antequity

13. Which of the following are elements of legal right ?
(1) Responsibility, Liability and Power
(2) Subject, object and title
(3) Liability, title and Accountibility
(4)  Accountibility, Responsibility and Impartiality

e T

(o]
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9. TH ¥ HIL, Sl HHSA & &l & o9 HHIS® oY d°l e & =i dear
gHfyed &1 T I TUN & G & s Sgerd a7 AT S 9§ F H UeE HId § 1 39

ok STaeT T 1 A ¥ ?
(1) favmmeaes = (2) YUNH® =™
(3) SUERIHS =™ (4) fdgecHs =

10. faem qen qeifola & gl & =9 @1 woq wd TE R ?
(1) faum, T & Sioenie Hehed &1 TRt Hd ¢ a9 e = 9 = 1 #@0[ < |

2) Taum faumim g/ @ w1 F1 iweiie sifyeafa © qen gdfia wefa % g s
oo 21

(3) faum fRIy @&y § FF ® GEE Goheudl § qo1 (@ s 9§ Fd 6
sifvreafad #1

(4) Taum sreuis 7a W enenfa § qen gefor wfgsmdt Sae w ffda =1 senfa g 2

11. ATUHT (A) T T (R) 1 Ul IR = faQ 7 F2i 1 weg & el = &1 gHTd HiTeT
AR (A): T ax] W 0 = &1 Fell 8, STH] TR Hifctsh THS S|

HIUT (R) : hesTl 3aT &l 2T%sT § TSia o=t Tt ® |
e :

(1) (A) 39 (R) & € 7T (R), (A) F1 & AT |

(2) (A) T (R) W2 € &AfHA (R), (A) 1 T8l A T8 ¢ |
(3) (A) EEl T dfehd (R) T4 B |

(4)  (A) 7ol § AT (R) TR B

12. freAfafed & @ $9 ‘FHeell’ 1 TE TR T2l 2
(1) @ega: q S EFRT: (2) HAEFR gRiEfd qen giqas
(3) =AferTa e stforer (4)  STad Ul qUER

13. fr=fafad & @ &9 Suife s1fusr #7199 82
(1) <Ifae, <Far 99 AfHeR
(2) UGS, A qAT w@Hea
(3) Tl THE, ST
(4) SwErgE, e, foasa

rns [QTHIANE NI

O
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14. “International Law or the Law of Nations is the name of body of rules which according to
the usual definitions regulate the conduct of the states in their intercourse with one
another”. Who has given this definition ?

(1) Hack Warth (2) Charles G. Fenwick
(3) Gray (4) Whiteman

15. In which of the following cases the Parmanent Court of International Justice applied the
general principle of Subrogation ?

(1) Chorzow Factory (indemnity case)
(2) Case Concerning the Temple of Preah Vihear
(3) Bracelona Traction Case
(4)

4 Mavrommatis Palestine Concessions Case

16. In which of the following cases Justice Gray remarked : “International law is a part of our
law and must be ascertained and administered by the courts of justice of appropriate
jurisdiction as often as questions of rights depending on it are duly presented for
administration.”

(1) Nicaragua Vs. U.S. (2) Paquete Habana case
(3) U.S. Vs. Schooner (4) U.S. Vs. Canada

17. Match List - I with List - II and give the correct answer by using the codes given below the

Lists :
List - I List - II
(Charter of the United Nations) (Number of the Chapter)
Titles

(a) Membership (i)  Chapter XIV
(b)  The Security Council (i) Chapter II
() The International Court of justice (iii) Chapter V
(d) The General Assembly (iv) Chapter IV
Codes :

(@ (b) (9 (d)
1 ® @) 3§) (@iv)
(2) @) () Gv) @)
() G) (@) @ (1)
4) (@{dv) (1) (@i (i)

e TR 1 Faper
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14. TRl fafy = gl w1 fafy T i & 9 &1 W € S 9 gk 3 STIER I91 % o
e foem-faust o S emerw o fafaftg & €1 =g aftme femm < 2

(1) e (2) =cd ST, FAfaH
3 ¥ (4) @

15. fmAfafed § @ fFa ame § srarisea et =mererd 3 giaeamds =1 fagia @y fean 2

(1) =St et (eafaafd Ame)

(2) 9= Hfifeae wfet | Heifed AHer
(3) ST IHRM HHEA
(4) R Yeiered SHuvr we

16. ffafEd o 9 frg amet 9 =mEmfd O 7 feooft H7 of

" ST I, SAR ST 1 9 © SR 36 TR e g1 1 gemed o forg fafued seqa g
M T IUYH SR REe el gR1 39 7999 g Afufafyea oi) genfaa faman s =nfew’’

(1) TrRmen a9m S99+ T (i) (2) Y ZEHT W
(3) HIF T (SR T TR (4) HIF T (SR TTH FHAET

17. ol -1 & Gt - 11 < 919 Gafad hifse a9 5T 7e el & 9 98l S| g :

Tt - 1 T - 11
( |ge T AR ) ( 37T T W)
sftden
(a) ¥ ()  TEE XIV
(b) He&m uftvg (i) 1A I
(c) ST =T (it 1A V
(d) | (iv) e IV
< :
@@ () (9 (d)
@ @ @ 3§D (i)
2) @) @) @) @
G) @) @) @O ()
@) (@(v) (@) G (i)
pssis [N u
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18. Who has observed, “De Facto recognition is by nature provisional and may be made dependent
upon conditions which the new entity has to comply. It differs from De Jure recognition, in
that there is not yet a formal exchange of diplomatic representatives. De Jure recognition

................ is complete, implying, full and normal diplomatic relations”.
(1) Lauterpacht (2) Philip C. Jessup

(3) Oppenheim (4) Schwarzenberger

19. Assertion (A) : International customs used to be the most important source of International
Law in the past.

Reason (R) : The development of custom is very slow and as compared to it rapid changes
made through Treaties.

Codes :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) is correct (R) is false

(4) (A) is false (R) is correct

20. Marriage under the Hindu Marriage Act, 1955 is :
(1) Purely contract
(2) Purely sacramental
(3) Semblance of contract and sacrament

Neither contract nor sacrament

oot ||H||H||||“|H\ U
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18. =1 ¥ @ form wve1 R ¢ aafass A=t wahfa &1 gfic @ oifqw St € TR 38 39 vt W enfya semn
S ehal § fSeRT STaTer T8 ween g)1 fohen S 71 @ fafud: v @ 39 gfe @ fu= At R
ToH orft oft UeHfae yfafafesl &1 eiaenie o_M - yeW & 2| fafya: we i
Bt B Fores qoi o | Tt dey ffed g 87

(1) died= 2) fwfera =t S

(3) fuTeEH (4) feraRE=TR

19. AMURYT (A): o # Tl qomd STaisdia SA i T8 Heaqul id gaT it of |

®RUT (R)  : A9l o A1eA9 9 59 dsil 9 2 T8 qRad= i gorl § g1l & fosam 9! €t
i & a1

(1) (A) 3R (R) T T § 991 (R), (A) T Tl AT 7|
(2) (A) 3R (R) Sl W&l € W (R), (A) FT W&l =0 TE |
(3) (A)H & T, (R) Ted

(4) (A) T T, (R) 9l T

20. feg foame stfuftem, 1955 % d=d foame & -
(1) %ad Hfea
(2) Had H@R
(3) dHfaer oiR Hwr &1 fago

4) @ dfaer 7 & g=hR

rns [QTHIANE NI

—
(68)
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21. Match the List - I with List - II under the Hindu Marriage Act, 1955 and give the correct
answer with the help of codes given below :

List-1 List - II

(a) Monogamy (i)  Section 10
(b)  Judicial separation (ii) Section 5
(c) Void Marriage (iii) Section 11
(d) Divorce by Mutual Consent (iv) Section 13-B
Codes :

(@ (b) (o) (d)
1 @ @ 3§ (iv)
2 @ (@) (@Gv) (i)
() @) () Gv) @)
@) Gv) @) @O @)

22.  Which of the following are fault grounds of divorce under the Hindu Marriage Act, 1955 ?
(a) Extra marital sex
(b) Consent obtained by force or fraud
(c) Desertion

(d) Conversion to non Hindu religion

Codes :
(1) (a), (b) and (c) (2)  (b), (c) and (d)
(3) (b), (a) and (d) (4) (a) (¢) and (d)

23. A Muslim male is prohibited from marrying the following relations :
(a) Mother, Grand mother (how high so ever)
(b) Daughter, Grand daughter (how low so ever)
(c) Aunt, Great aunt (how high so ever, whether paternal or maternal)

(d) Niece, Grand niece (how low so ever)

Codes :
(1) (a), (c) and (d) (2)  (d), (b) and (a)
3) (), (9) (d) and (a) 4)  (¢) (b) and (d)
psos (IR 1 Faper!
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21. fe< fomme srfufrm, 1955 & @&d ot - 1 &1 Gt - 11 % 91 gafera ¢ iR = fu 7u 2 =t

TR ¥ HEl IR ST

Tt - 1 T - 11
(a) T foamE () =W 10
(b) AT JereRhTl (i) @5
() I foeme (iti) & 11
(d) ot "eAfd | foeme-fo=sg (iv) T 13-B
%<

(@ (b) (9 (d)

® @) @ G ()
2 @ (@) (@Gv) (@)
() G) () Gv) @)
@ Gv) (@) @ @)

22, fe<g foame stfuftem, 1955 % dea fr=fafea § @ ®F & e & ool o1eR €2
o it ey

I AU BA R I 1 T8 HHId

R

R feg o & aftadH

A/(?AA
42222

—

1) (), (o) iR
(3) (b), (a) &R (d) 4) (), () IR (d)

23. Hfcm v f=fataa gefial @ faaw v wfaefa @

(@) @, & A (IR e Fw)
(b) &, Ut (=R fera =)
(
(

c) e, U< v (AT a1 SR gt =0 wige &t AR W)
d) =, ¥ 9 (IR e )

?:Ed‘:
1) (@), () IR (d) ) (d), (b) IR (a)
0), (d) 3R (a) 4) (), (b) 3R (d)
J-5815 M 15 Paper-II
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24. The Dissolution of Muslim Marriage Act, 1939 makes available the following grounds of
divorce to a Muslim woman married under Muslim Law :

(a) Seven years imprisonment of the husband.
(b) No maintenance by husband for 2 years.
(c)  Whereabouts of the husband are not known for a period of 4 years.

(d) Failure of husband to perform marital obligation for a period of 3 years.

Codes :
(1) (o), (b) and (d) (2)  (a), (b), (c) and (d)
(3)  (b), (¢) and (a) (4) (a), (b) and (d)

25. The ancient sources of Hindu Law include :

(a) Shruti (b)  Smriti

(c) Customs (d) Digests and Commentaries
Codes :

(1) (b), (c) and (d) (2)  (d), (a) and (b)

(3) (a), (b) and (c) 4) (), (c), (b) and (a)

26. Originally under the Hindu Marriage Act, 1955, divorce was based on :
(1) Fault theory only (2) Breakdown theory

(3) Consent theory (4) Fault and consent theories

27. “A grocer supplied goods worth ¥ 6,000 on credit to A. In addition the grocer solicited a
donation of X 2,000 for his sons education to which A consented. Later A refused to pay
both sums as he lost money on stock transaction”. Which one of the following is correct
while deciding the liability of A ?

(@) A has already availed of the benefits in terms of goods supplied, hence consideration
between the two binds A to pay.

(b) A is not bound to pay < 2,000 as it a gift which is not enforceable in Law.
(c) Ais liable to pay both Sums as it is a promise between A and grocer.

(d) A is not liable to pay either of the Sums as both of them are joint and not separate.

Codes :
1) @and®) 2 @and©@ () Mand(@ () and (d)
rsos (AR 1 Faper!
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24, Hferw fafy & qed foenfed ww giem #Afgen =1 Afem foare fa=sg sAfufwm, 1939, dome *

frefafed SR Suesy #m € ¢

(a) dfd 799 A FREE |

(b) TS § Ufd §RI WROT-UET 7 AT

() TR o™ § ufd H1 war-fowmn 7 Aem g

(d) a9 § 9fd *1 faamE a@ 91 99 *1 ST |

< :

(1) (@), (b) 3R (d) 2) (@), (b), (o) ¥R ()
(3)  (b), () ¥ (a) 4) () (b) ¥R (d)

25. feg fafy % =i @il o wnfoa ©

(a) gf (b) =i

() Jemd (d) freiy 3R e
%<

(1) (b), () ¥R (d) (2) (d) (a) 3R (b)
(3) () (b) ¥R (o) 4)  (d) (0, (b) ¥R (a)

26. Hoq: feg faame sAfuftad, 1955 & qd qaeh fohd WX e 9 ?
(1) aa I fagid (2) fo=red fagia
(3) wwAfd fagra (4) < iR Tl fagid

27. “'U& 9@ 7 A ®1 % 6,000 FH GEA IUR AT 3T ST GR A T W i fnen & faw
22,000 %1 T AW I SE | A F 3 SHI & ARET 1 PFIaE w8 F 3R L o1, wife 38 <
ISR H oo ToRd™ &1 T A S SIRN o Hey | vl o 99 fefafed § 9 e @
rfirshe TEt § 2

(a) EMME HT Y & F9H A Hl A9 I & GH1 ¢ SHAT 3691 &9 § WA gC A §R A
ERIEIEICIEa s

(b) AT F T HZ 2,000 H PAH T & AU areg T €, S A H goAEa T S
(c) AT YA & o9 TH A1 & ATEY, A T &4 T A1 PFTAHE HIH % faQ 907 T
(d) A fwet off afer 3 o & fore anea 7 7, <A1 oter - otem TE dfew WY R

2) (a) T () (3) (b TE(d) (4) (o) = (d)

(1) (a) @ (b) (
rns [QTHIANE NI L
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28. “X makes an offer to Y. X dies the next day, but Y does not know of the death. Y sends a
communication to the address of X accepting the offer”. Is the agreement formed between
the parties ? Choose the correct answer.

(a) Requirements of offer followed by acceptance are met.

(b) Absence of knowledge of death will not invalidate the agreement.
() No meeting of minds which does not render it to agreement.

(d) Death of the offerer reduces it to nullity.

Codes :

(1) (a) and (c) (2) (a) and (b) (3)  (c) and (d) (4) (b)and (d)

29. Match items of Group - A with those of Group - B and choose the correct answer using
codes :

Group - A Group - B

(a) Food Corporation of India Vs. (i)  Impossibility of performance
Ram Keshav Yadav

(b) Kedar Nath Bhattacharji Vs. (i) Capacity of minor to enter
Gori Mohammed into contract

(c) K. Balakrishnan Vs. K. Kamalam (iii) Offer and acceptance

(d) Satyabrata Goshe Vs. (iv) Consideration

Mugneeram Bangar and Co.
Codes :
(@ (b (o) (d)
1 (v) (@) (D) ()
(2)  (v) (@) @) ()
G) @) (@Gv) @) ()
() (i) (iv)

4 ()
pssis | IHAIN AN !

o]
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28. X, Y & Us TG @1 § | X Hi T fed g7 & A €, AR Y G F Garg H A Fanl Y, X H
AT T U TEAS i Tpid 1 Fo1 <al ¢ | 1 SH1 9&dl & o T ffHa & e ? 98t W
Ealcsicicad

(a) THG & oIG FEAE BT TR T T A |

(b) TG I TN § ST, TS hl STHI T hdl |

(c) foami =1 faa & 8 © 38 7798 H T I5a qR |

(d) TEIE® H Yo 3H STE & < |

FE

1) ()T () (2)  (2) @ (b) (3) (9T (d) (4)  (b) T (d)

29. HHE - A % foug |l 61 WE - B % fo 9l < | fre sifse qen fou 73 e # 9 wEd SW

F1 A HITC :
e - A e -B
(a) YIRAR @/ W 99M T H3E aca (i) ST ol STHHE
(b) TR MY Mg o T Hewe (i) A7 H wtHe 3 o faQ Trefer
T AR

(c) . STIHH M % HAH (i) TETE q Sfpfa
(d) FIed =Y TIH HHRH SR TS . (iv) SATTEY™
HE :

@@ (b)) (o (d)
1 Gv) @) G (@)
()  Gv) (D) @) ()
(3) () (@v) @) ()

i (iv)

@ @) (i)  (iii)
rssas [ AN

—
O
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30. Agreement without consideration is valid under Indian Law. Among the following
statements choose the one which is against this rule :

1) When agreements written exist on account of natural love and affection.

(1)

(2) When the consideration is too inadequate.
(3)  Where the consideration is past one.

(4) Where the consideration is from third party.

31. Choose the incorrect combination :

(1) Proposal + Acceptance = Promise

(2) Promise + Consideration = Agreement

(3) Agreement + Enforceability = Contract

(4) Proposal + Consideration = Acknowledgment

32. Match items of Group - A with Group - B and answer the correct one given in the code :

Group - A Group - B

(a) Doctrine of unjust enrichment (i)  Section 11 of Contract Act
(b) Doctrine of absolute contract (if) Section 56
() Doctrine of Estoppel (iii) Section 72
(d) Doctrine of Pari Delicto (iv) Section 23
Codes

(@ (b) (o) (d)
® @ @) @G ()
() @) @) @ )
G) @) G @ )
4) (v) @) @) @)

33. “Just as the criminal law consists of a body of rules establishing specific offence, so the law of
torts consists of a body of rules establishing specific injuries”. Who stated this ?

(1) Austin (2) Salmond (3) Winfield (4) Pollock

2 T 2
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30. YR HF & Tid gfawa & fon, ey o= €| frefafed wel § @ fhet w1 998 #,
S o o faeg B

(1) e Fgfis J0 qon e & onuR W fafaa sty ffifa € 2
(2) 4@ YfIwa STd ST9aTe ¢ |

(3) el yfawhet y[aehfera 2 |

(4) T gfdwa A e W R

31. T g I GAE HN
(1) TEE+Eehfd ==
(2) == + UidHe = IR
(3) IR+ Yacdal=dgfaa
(4) TETE + Fidhe = SAfuEstpid

32. WHE- A% foawm 9l &1 €9 - B o fomg @it o @iy fiae SifSe qon 9 ke ™ e § 9

T W T FAE HL
e - A |E - B

(a) eT3fea wafs 1 fasr () ergey il g 11
(b) Ul ey 1 FagT (i) 56
() foery =1 fagma (ili) &R 72
(d) i EifersrRl w1 fagr (iv) &/ 23
%<

(@ (b) () (d)
1 @ @) G (i)
(2 G) @) @ @G
3) (@) @) @ ()
(4)  (v) () (D) @

33. ‘‘facrga SR STy wrA fafvre stouy fag &9 e s | i §, 9% @ st s fav
&ffd TgaM AT 3T 1 fag w9t Sl § A ¥ e aw wer R 2

1) =M (2) HEHIE (@) faTwice (4) iR

(
rns [QTHIANE NI 2

® @ © O LinkingLaws  © Linking Laws Tansukh Sir &) www.Linkinglaws.com % Unacademy Learner App At
Linking Laws is an institution for RJS, DJS, MPCJ, UP PCS J, HCS (JB), GJS, & Other State Judiciary and Law Exams. (
vV A\




. o Linking Laws ©:7737746465

(it Lot Jau” 2 - [ITTTTIIRY www.LinkingLaws.com

34. Consider the following elements :

(@) Infringement of a legal right (b) Any damage

(c) Existence of a legal right (d) Legal damages

Right to claim damages in tort would arise only if :

Codes :

(1) (d), (b) and (a) are present (2) (b) and (d) are present

(3) (a), (c) and (d) are present (4) (b), (c) and (a) are present

35. Assertion (A) : X opens a food court in front of Y’s “food joint’. All the customers of Y
patronise X. Y can not claim damages from X.

Reason (R) : There is a Latin maxim ‘damnum sine injuria’.

Give the answer using the following Codes :

Codes :

(1) (A) is true but (R) is false

(2) (A)is false but (R) is true

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(4) Both (A) and (R) are true and (R) is the correct explanation of (A)

36. In contributory negligence :

(1) Only one party is negligent and other has not taken due care.
(2) Both parties have contributed to negligence equally.
(3) Lack of care is equal on both sides.
(4) One party is negligent resulting in injury while the other has taken due care.
37. Match List - I with List - II and select the correct answer using the codes given below :
List - I List - II
(Principle) (Associated Case)
(a) Absolute Liability (i) Gloucester Grammar School
(b)  Damnum sine injuria (i) Ashby Vs. White
(c) Injuria sine damnum (iii) Stanely Vs. Powel
(d) Inevitable accident (iv) Ryland Vs. Fletcher

Codes :
@ () (¢ (d)

® O 6@ @ @)
@ @ @ @ 0
@ (v @) @O G
@ G O @ @
2 T 2
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34, fr=fafead 9@l ® fo=m =Y .

(a) fafus sAfyer 1 srfaersa (b) ol &R =1 &fa

(c) Tafere sAferer =1 i (d) fafeer afa

AIFA H & e 1 AUFHR el To AT BN 5

e :

(1)  (d), (b) TAT (a) TN T (2) (b) A (d) BN B I

(3) (@) (c) T (d) W &1 (4)  (b), () T (a) WS &1

35. AMHIT (A): X, Y& ‘TS B’ F WH Th FS HIe @il 8| Y F Gl TR X F URH o

SR Y, X ¥ THAH 1 e & HL Fohe |

®RUT(R) : Uk oifed gfoa & ' fomr &ifa & &l

Frefafed i 1 TAN Fd gL SW UMW ¢

< :

(1) (A) 5@ € dfHT (R) Tefd |

(2) (A) e € wfeA (R) WE R

(3) (A) T (R) T W&l € WA (R), (A) F1 F&l FRO1 T 2

(4) (A) T (R) IHI T € T (R), (A) 1 T HRUT T |

36. ANTGRT IU&T H :
(1) ac T T&] ATRATE § T TH &1 3 ek Hashdl Tel 1@ |
(2) <l 98T ISR ATRATE H SeR % YR ¥
(3) <@ Y@ T AYE IHI TH TR & |
(4) T 98] ARATR &, TROMHEEY THaE H T Jafd O U8l § FFd Fashal 1@ ¢ |

37. GEl - 1! geit - 11 8 gafad SIS o) F2 #1 7eg & T8l S| g

Tl - 1 T - 11
(fogr=) ( Haifera 7w )
(a) o Sfa (i) TOHER UM T
(b) o &ifa & @i (i) ST9d I AR
(c) Tor &1f7 % &ifa (iti) WM IH &
(d) STIU&ORE &fd (iv) TSeUE T Tefleer
e :

(@ (b) (o (d)
1 @ G @) (
(2) G (D) (Gv) (i
(3) (IV) (11) (i) E

@) @ (@G @
oo HIHIH\IIIHH

e T T
< B
~ —

[ 2
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38.  Which one of the following is not a valid defence in tort ?
(1)  Vis major (2) Volenti non fit injuria

(3) Inevitable accident (4)  Scienti not fit injuria

39. Fillin the gap:
The actus reus of omission commands
(1) There must be moral duty.
(2) There should be legal duty to act.

(3)  The state has option to fix criminal liability.

(4) The act performed is due to unavoidable accident.

40. Several persons can be vicariously liable for the Criminal act of another provided there is
prior meeting of mind between the persons. Which of the objectives of Criminal Law is
applied in such a Case ?

(1) A pre-arranged plan with intention of performing the act.
(2) A pre-arranged plan for causing injury.

3 A pre-arranged plan to kill the deceased whether fatal blow was given by that accused
p ged p g y
or not.

(4) The pre-arranged plan must be incompatible with the innocence of the accused.

41. The applicability of the principle on common object has two essential features. One purpose
is that the object must import a high degree of probability; while the other purpose is :

(I) An act committed immediately connected to the common object of the assembly.

(2) The member must have prior knowledge that there is possibility of the happening of
the act.

(3) The Co-accused knows that he will be responsible for offence that is likely to be
committed.

(4) The object was to cause simple injury but a fatal injury resulted.

42. In which of the cases the measures of self-defence is considered to be proportionate to the
quantum of force by the person accused for an offence ?

(1) Aggression (2)  Accident
(3) Apprehension (4) Assault of harmless nature
psss AN 2 Fapes I
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38.

39.

40.

41.

42.

freAfafead 8 @ #F TF T9Fd &1 39 9919 T&i 8 2
(1) fom asx (2) drciet 91 fhe s
(3)  erguemiE gele @) @E e fre S

e T &t gfd Hifse

I o AATHE HE H GHRY H |

1) e wdea stewa g1 =fEw )

2) wE w0 * foau fafus wde g1 =nfew )

(3) TF & U AU fae Mg & w1 fashed 21 =nfew
)

(4) wrIfed s ST9fER gHe % wRU ¥

3T AT 3T & AT Fcd o Ty gfaeenties w9 9 feR & 9ahd €, 9t for o7 =Afeal i
d ¥ feArT fieft wa 81 T8 Tme § SaUie wT 1 RF-91 3eavd AN BT § 2

(1) F FHIIed & & RME ° & FiRa Fem

2) «fd wgem & fau qd fefs e

(3) Hd I HRA i Ya AT AT 918 ARG R Sete g9 fohal T o Stean &l |
(4) Y& FRISa Arsm SR st fSToar & ST6Ta 21 =1feu |

4

T 354¥d o g AF] fohdl S o <1 980 € | T JAI9 98 © foh 35avd Tl &l 3o ®ife
T I 7 | AR gH T 9% |

(1) T T Fo afadl & S % U 3Ry ¥ qEd Tes e W ¢
(2) WEH I 3H 9 i g8 SHHR a1 dMel fh Fed fhd S 1 S9e 8
(3) FeE-3TRII I ATe[@ & o =8 €M aTet 319w i1 f=er €|

) SRV WM =1 UM o, W 96l = e g T |

(4

fr=rfarfad o 9 fora ama o SToRen 1 Ui fwst 190y & STl safad gy 9T fod T3 o 1
AT FH S € 2
(1)  STmshH (2) gEeW

.

SIS (4) &faXfEd TET i TBR

()
rns [QTHIANE NI 2
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43. Ignorance of law does not permit acquittal as it is built against justification of a Crime while
in extreme cases it allows :

(1) Pardon (2) Suspended sentence

(3) Deferred sentence (4) Paper sentence

44. In which of the circumstances an inchoate instigation to Commit a Crime is said to be
incomplete ?

(1) Withdrew from the act after instigation.
(2) The letter posted could not reach the person so sent.
(3)  When the purported crime is different from that of instigation.

(4) When the crime results through the conspiracy of another person.

45. Read Assertion (A) and Reason (R) and answer using codes given below :

Assertion (A) : Managers collectively bargain with labourers to get cheapest labour rates
and derive maximum benefit from labourers.

Reason (R) : Management must manage to maximise profits for company and give
maximum dividend to shareholders. Management must be economically
sound.

Codes :

(1) Both (A) and (R) are correct and (R) is correct reason of (A).
(2)  (A) is right, but (R) is wrong.
(3) (A) is wrong, but (R) is right.

(4) Both (A) and (R) are correct, but (R) is not the correct answer for (A).

46. An Independent Industrial Relation Commission to provide labour welfare in India was
recommended by :

(1) Ramanujam Committee (2) Madhavan Committee
Vasudevan Committee (4) Santhanam Committee
J-5815 26 Paper-I1
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43. T 1 I T8I 81 § ST B i STIANG el &F ST 8 T I8 fRH STy % Sfifa & foeg
I § Wy AT AR AHel § ag fhwe! orfa Ta1 § 2

(1) ¥ (2) feifed s
(3)  SATEANTT HSM (4) TS ST

44, Trefafed § 9 feg oifeafd w sy w0 & fa o1qol SwdTee STl AT St € 2
(1) IHEA & 918 FI G 6 8 T
(2) T R U T U Aferd SAfR Aok T UgT ek |
(3) S drcafdd TRy IhHTES At TIH H i T
4)

4) e TRy TRt o7 =afad & WA % HRO BT 7

45. ATIHYT (A) 3R HIUT (R) I 9feT T 1< fed T3 F2 o1 Fermd 9 I® e

ANTRAT (A) :  TIUF TOIGU W ANfesk WA dd HI ¢ Ik F TIH & G R AN F Toh
AT AU § STTHhan HEeT 91 e |

HRUT(R) : JaEGH &l T8 Yo A1 AM6U foh 98 FHEAAT o ATehad a1 81 q1 IR TRH| hl
sTfeer § sferen e fean ST 9eh | Ted 1 STfHfe ®9 § Hele[ gl =1y |

ELE

(1) (A) 3R (R) E1 ¥l T 3R (R), (A) FT T& HRO |

(2) (A) ¥ T TG (R) Tod €

(3) (A) T & T (R) ¥ T

(4) (A) IR (R) T FE T, WY (R), (A) F o T IR T =)

46. YA U g wHeanw & fau U Tas et ey S Tfed i &t fgwiier fefafea § 9

fore g T T off ?
(1) Tmrgsm wfafd (2) wHEA wifd
(3) argeeH wfafd (4) T aff
yssis |1 IALAINANI 2 Paper

Ag A\
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47. Match List - I with List - II, using codes given below. Answer in context of rights and
liabilities of trade unions :

List - I List - II

(a) Convey Vs. Wade (i) Role and right of minority trade unions

(b) Rohtas Industries Staff Union (i) Inducement to break a contract without
Vs. Bihar violence is permissible

(c) Chairman, S.B.I. Vs. Orissa (i) Amplification of scope of immunity
Bank Association provisions for striking employees

(d) Food Corporation of India (iv) Secret ballot is valid as a credible system for
Staff Union Vs. F.C.I determining the representative character of a

trade union in a multi union establishment
Codes :
(@ (b) (o) (d)
1 G G @ G
() @) @) @ G
(®) @) @) @) @)
@4 @O (@v) @) (i)

48. Read Assertion (A) and Reason (R) and answer using codes given below :

Assertion (A) : Civil servants are engaged in the task of sovereign and regal task of the
Government and as such they can be included with the definition of
‘workman’ in an ‘industry” as contemplated in Section 2(s) and 2(j) of the
Industrial Disputes Act.

Reason (R) : Because Tamil Nadu, N.G.O. Union Vs. Registrar of Trade Unions decided
SO.

Codes :

(1) (A) and (R) are correct, and (R) is the correct reason of (A)
(2) (A) and (R) are correct, but (R) is not the correct reason of (A)
(3)  (A) is correct, but (R) is wrong

Both (A) and (R) are incorrect

oot ||H||H||||H|H||\|||\H||||\|\|\||H|\|\|“H|||\|\|\|H||\ :

(o]
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47. 4 53 T Fe w HEEd 9 G - [ Gt - 119 Gafad S | 7ig 99 o STfUsR T S

% Hed ¥ 3w S|
it - 1 it - 11
(a) D M IS () STCTdEAS TSI ol i offient qen
AP
(b) BAH TSEIS WIH 17 1M fa8r (i) for fiden = fersdt wferar w1 =t ergafd
Bl
(c) I, TH.H.STE. 9 IS 9 THIAUH  (iii) godel § YNfHa wHHamEl & g SR
% WrEHT o &5 1 forer
(d) € FRUNTH ATh 3fean WIh I (iv) T HASH o 9 el Y T3 o Yfdffaes
T T, 1.2, &Y o MuR gg T fafemm=r gomett
2l
%<
@@ (b) () (d)
1) @) @ @ ()
2 @) @) @ (1)
(3) () @) @) ()
@) @@ @v) @) (i)

48. SFUFRUT (A) 3R HWUT (R) F 9feT a4 = & T3 Fe F1 Fer&ar ¥ W T

afueRe™ (A) :  Tafod o TR & Ta1 Io9=1 a1 Wt & § Hore ®d © iR safee 3=
sirefiter foame eifafTem =t °9r 2(s) 9en 2(j) # = fa=nfa ‘3@’ & ‘wHer’

! IR § e fohe S W 2

HRUT(R)  :  Hf qbe A1g, TR TR HIS 998 FHAW 9 & Fo grad & A\ § Tl
frrofar feren T o

e :

1) (A) 3R (R) T& T 3R (R), (A) FT F& FRU T |
(2) (A) 3R (R) T €, TG (R), (A) F1 T F0 T )
(3) (A) W& E, WY (R) T 2

(A) 3R (R) S T € |

oo \||\||H\|||\|H|\|\|H\||\|“||||\|H|\||\II“IHIH\||\||\|\|H||

N
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49. Which of the following statements, is correct ?

(1) A Trade Union cannot constitute a separate or political fund under Section 6(1) of the
Trade Union Act.

(2) The general fund of a trade union cannot be utilised for the purpose stipulated in
Section 15 of Trade Union Act.

(3) Trade Unions are not immune from civil and criminal liability.

(4) Certain officers of trade union, who are styled as protected workmen, are given certain
safeguards in the matter of alteration of service conditions and termination of service
during the pendency of any proceeding in respect of an industrial dispute.

50. Which of the following is incorrect ?

(1) An Employee having less than one year of continuous service will not be retrenched.

(2) One months notice with reasons and one months wages in lieu of such notice is
necessary.

(3) Employee is entitled to compensation equivalent to 15 days average pay for every
completed one year.

(4) Serving of notice to appropriate Government or any such authority is not mandatory.

-00o0-
e TR . Faper
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49. frfafEd ¥ 9 -9 Fo7 T € ?
(1) A9 99 AUFTH ®T 9/ 6(1) % Faa HIE Ao H9 fordl Jus o1 TeHfas Y &1 7o
TE AT Feha 7
2) foet g5z 99 &1 wEr Y #1 S9En geigy w9 stfufm & am 15 § it sgewa *
fere =7 foran < wehan 1
3) TR " fafaet qen sty < 9 S e ¢ |
(4) TSI G % 3 Hiaqd A i, 5= Tfaa wHer & 9§ sifataa foeen men g, foet

3Menfirer foare & doy o fordt wrdardt & dfted ®© % SR Her 1 # 9iadT den de
g & A | Fw Wi e 7 ¥

50. foefafEd § 9 % Tod 2

(1) T& a9 9 & &l TR Fa1 FH W [FEH HHAR HF ST TE0 ®1 ST |

(2) T HTE & wRU Gied Fifeq fean w1 iR U5 Tfed & 95 U 91 &1 mRafas e €|
(3) wHAN g® UG o % faw 15 fedi &% faa aaq & ufae? &1 gher T

(4) SUH WHR AT fHat T Wferspor 1 Aifed <1 1femd T2 €1

-000-
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